THE LAW OF CONSERVATION OF
MATTER




The Law of Conservation of Matter
states that matter cannot be created or
destroyed, it can only change forms.




Matter can change its form through physical
& chemical changes ...

Examples:

* The evaporation of a puddle of water

* Rust forming on a metal fence




Chemical equations are used to illustrate the
Law of Conservation of Matter:

The chemical equation is written as:

iron + oxygen + water _ iron oxide




CHEMICAL REACTIONS

* In every chemical reaction there are REACTANTS & PRODUCTS.

* REACTANTS are the substances combined in a chemical reaction.

* PRODUCTS are substances that are produced in the reaction.

reactants

product

>

Conservation of Matter



http://www.neok12.com/video/Law-of-Conservation/zX567d4e457d737d75667b0a.htm

REACTANTS & PRODUCTS

Example:
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PRACTICE: DOES EACH EQUATION OBEY THE LAW

OF CONSERVATION OF MATTER?

**REMEMBER: # of reactants MUST = # of products



MORE PRACTICE: DO EACH OF THE FOLLOWING OBEY THE LAW?
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MORE PRACTICE: DOES EACH EQUATION OBEY THE
LAW OF CONSERVATION OF MATTER?

C HAI + 201 ﬁ. c01 + 2 HID
methane oxygen carbon dioxide water
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CONSERVATION OF MASS

* Although matter changes in a reaction, the total amount
of mass DOES NOT CHANGE!

* The mass of the reactants is ALWAYS EQUAL to the
mass of the produci(s).



https://www.youtube.com/watch?v=J5hM1DxaPLw

CONSERVATION OF MASS

U The mass of materials is the same

the reaction

. O, K8+ CO 10

Burnt in Oxygen Yields Ashes Carbon Dioxide gas Water Vapor

|

Mass of Wood _ Mass of Ashes, Carbon Dioxide, and Water
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Example:
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More Examples:

1.

carbon + oxygen = carbon dioxide
C + o, 9 Co,
12¢ 324 44¢

S0 we need 329 of oxygen to react with 129 of carbon and
44q of carbon dioxide is formed in the reaction.
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Calcium Zinc carbonate Calzium carbonate Zinc
50 g 150 g 1259 g
a. What are the reactants? products?
b. What is the total mass of the reactants?
c. What is the mass of zinc produced?
d. What is the total mass of the reactants?




YOU TRY! ©

3. Assume that the chemical reaction started out 6g of potassium
and 6g of water. How many grams of potassium hydroxide will
be produced by the chemical reaction?
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4. If 50g of sodium reacts with chlorine to form 125g of salt. How
many grams of chlorine reacted?




